Instructions for the teacher

Part 1: Hand students the worksheet entitled "Who Gets a Fair Share?" Allow students to make observations about what they notice about trends in the data in small groups. Encourage students to use all the parts of the data to calculate ratios and make conjectures. Using a map of NY state, point out where the counties discussed are located. Have students conjecture it they are urban, suburban or rural. Bring the class together and chart the students' observations.
Part 2: Instruct students to choose 2 categories from the table to graph. They must determine which of the categories could be an independent variable and which could be a dependent variable. It may be necessary to define these terms before proceeding with the activity. Encourage students to use per pupil expenditure as the dependent variable, although other combinations may lead to interesting conclusions. Have students set up an L‑shaped graph labeling their axes. Students should determine the best way to scale their axes for the data they are using. Assuming the data given is representative of the state as a whole, have students plot their data. [Technology note: this is a good opportunity to use the list function and stat plot on the T1 83 or higher graphing calculator ]. Have students look at their data in its graph form. What trends do they notice? Is the graph linear? Exponential? Is there any relationship between the two categories they selected?
At this point, depending of the level of students you are teaching, students could: 
· Perform a regression in the graphing calculator to determine the equation of best fit for their trend.
· Calculate or find in the calculator the correlation coefficient.
· Draw in the graph of best fit and calculate the equation by hand.
· Use the model/equation found to make predictions. For example, according to my graph, if a county had a median income of $______, their per pupil expenditure would be $______

· Using their predictions, students can evaluate the reasonableness of their model/equation.

Have students present their findings to the class. What cause/effect relationships did students find? Are they direct cause/effect relationships or could there be more factors in play?
Summarize the lesson: Discuss with students about what factors depend on others. Close the lesson with a discussion of whether or not what the students found is fair. If not, how can they take action? Have students identify who is in a position to change the inequities they noticed. Close the activity by assigning students to write a report or a letter to one of the individuals listed using their mathematical findings as evidence.

Extension:
Have students choose one of the counties on the table and choose 5 or 6 towns within the county, They can repeat the assignment for towns within one county. The statistics are available through the Campaign for Fiscal Equity website in a report titled, The State of Learning (July 2005). Note: this report is 368 pages long and students will need help navigating to the information they need. 
Some background on the counties: 
Erie Country is where Buffalo is located and considered to be one of the "big three" counties in NY State (along with New York City and Albany).

Nassau County is the part of Long Island closest to NYC and is decidedly suburban. Some of the towns in Nassau county are considered to be extremely wealthy, where others are more middle class.

Westchester County includes both suburban towns and the urban area at Yonkers.

Clinton County is the most Northern county in New York State. It borders Lake Champlain and the Adirondack Mountains. It is a rural county. 
Albany County is the seat of the state's capital of Albany, but also includes other suburban and rural towns as well. 
Suffolk County is located on the eastern tip of Long island and is a wealthy, suburban county including the famous "Hamptons" communities. While the average expenditure per pupil in Suffolk is $14,247, it ranges from $10,294 in Eastport to $51,828 in Bridgehampton. 
New York City County is comprised of the 5 boroughs of New York City and is decidedly urban. It is by far the largest county in the state in terms of numbers of students enrolled in public school. New York City contains over 1/3 of the total number of children in public school in New York State.

Instructions for the students:

Part 1: Read the fable included on the handout, "Who Gets a Fair Share?" What trends do you notice? Using your knowledge of ratios and percents and other mathematical tools, create evidence for your observations. You will share your observations with your class.
Part 2: Choose two categories of data to graph. You will need to identify an independent variable and a dependent variable. You will now graph the data. Determine the best way to set up your graph on a piece of graph paper and scale your axes so that you can see the information you want. If you are using a calculator, consider what window will give you the clearest view of your data. Plot the points from the data table. What trend is the data making? Calculate the equation of that trend. Is it reasonable?
After your class discussion, write a report or letter to one of the individuals empowered to make change. In your letter/report, present your findings and use your graphs and calculations as evidence. Propose solutions.
Handouts/Resources:

Handout: "Who Gets a Fair Share?" The State of Learning (July 2005) ‑ pdf document available on the Campaign for Fiscal Equity website: www.cfequity.org.  Also, located in Lesson Materials.
Helpful websites:

www.cfequity.org 
www.aIlianceforqualityeducation.org 
www.infoshore.org
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